6EME DIVISIBILITE feuille 2

Exercice 1

Cocher les bonnes réponses :
855 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
T30 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
198 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
38 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
450 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10

Exercice 2

Cocher les bonnes réponses :

45 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
38 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
830 est divisible : O par 2 [ par 3 [l par b [ par 9 L par 10
430 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
324 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
Exercice 3
Cocher les bonnes réponses :
240) est divisible : O par 2 1 par 3 [ par 5 [ par 9 O par 10
260 est divisible : O par 2 [ par 3 [ par 5 [ par 9 O par 10
114 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
594 est divisible : O par 2 1 par 3 [l par 5 [ par 9 O par 10
182 est divisible : O par 2 1 par 3 [ par 5 [ par 9 O par 10
Exercice 4

Cocher les bonnes réponses :

138 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
330 est divisible : O par 2 1 par 3 [ par 5 [ par 9 O par 10
249 est divisible : O par 2 [ par 3 [ par 5 [ par 9 O par 10
320 est divisible : O par 2 O par 3 [ par 5 O par 9 O par 10
207 est divisible : O par 2 1 par 3 [l par 5 [ par 9 O par 10
Exercice 5
Cocher les bonnes réponses :
74 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
390 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
395 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
396 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10

96 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10



